建筑碳排放计算结果汇总[image: image1.png]R s
SEHR: 100m; HREHIA

501

8 HfriiBEhE

WHAESSR RS BIC RSUET AEaRN

i | o ecore ) denbope ) eacone )
R w3 [90.70 [0 214.05 154.70  |4.46 150.17
1 t 11.36 (0.5 11.36 66. 68 0.26 66.94
LT t 31.89 0.5 31.89 180.18  [0.74 189.91
K t 11.36 [0 11.36 41.89 0.13 42.02
ERP t 60.80 |0 60. 80 112.85 1.40 114.26
2 w3 [17.74 o 26. 39 0.27 0.66 0.92
XPS {7 B m3 26.09 [0 65. 21 69. 89 2.26 72.15
; m3  [146.38 |1 234.21 0.00 0.00 0.00
m3  16.36 |0 0.33 43.82 0.04 43.86
w3 [13.73 o 0.41 36.78 0.04 36.82
HEWSEE CFB)  [m2 [74.08 (0.5 1.48 24. 06 0.05 24.11
R BT QBB n2 12.00 [0.5 0.36 1.45 0.01 1.46
Il m2  [10.08 [0.5 0.30 1.22 0.01 1.23
AT m2 210 [0.5 0.06 0.26 0.00 0.26
l AT m2 160 [0.5 0.05 0.20 0.00 0.20
: t 0.80 |0 0.80 26.29 0.03 26.31
ke [9.97 o 0.01 471 0.00 4.71
ke [209.01 fo 0.30 5.40 0.03 5.43
B it 779. 64 10.11 789. 75




[image: image2.png]B i
SEHR: 100m; HREHIA
WM

501

O frigss

il AR BC RS AEwAN

i i R [ | o om0
R w3 [90.70 [0 214.05 30.838  |0.890 31.728
1 t 11.36 (0.5 11.36 13.201  [0.052 13.343
LT t 31.89 0.5 31.89 37.710  [0.147 37.857
K t 11.36 [0 11.36 8.350 0.026 8.376
ERP t 60.80 |0 60. 80 22. 496 0.280 22. 776
i w3 [17.74 o 26. 39 0.053 0.131 0.184
XPS{i w3 [26.09 [0 65. 21 13.932 [0.450 14.382
AR LR A m3 146.38 |1 234. 21 0. 000 0.000 0.000
EPS Al b m3 16.36 |0 0.33 8.736 0..007 8. 743
BR eI m3 13.73 [0 0.41 7.332 0.008 7.340
ARV FHE S f CF8)) m2  [74.08 [0.5 1.48 4.797 0.010 4.807
Fi FHESEEAT T bTbE i m2 12.00 [0.5 0.36 0. 290 0.002 0.292
m2 1008 0.5 0.30 0.243 0.002 0.245
SUAAIST] m2 210 [0.5 0.06 0.051 0.000 0.051
AT m2 160 [0.5 0.05 0.039 0.000 0.039
t 0.80 |0 0.80 5.240 0.005 5.245
ke [9.97 o 0.01 0.938 0.000 0.938
ke [209.01 fo 0.30 1.076 0.006 1.082
B it 155.412  [2.016 157.428




[image: image3.png]B i

SRS 199m'; FHIAFdr: 506F 8 HfriiBEhE
bR s ERREIRR BOr BBl AR
BB AEBHRIRE (ke COlMATF AL (keCO2
[SFEETES 0.05 2.63
— MiLHLK  ]0.05 2.50
— LIl B5]0. 00 0.13
FRERET B 1.58 79.24
> et it 1.63 81.87




[image: image4.png]| ezl

FHIRL: 190m; HRFH G 50 O frigss
WREris ESUERE BT RSUET AEGRN
B E R (ORI (1C02)
[SFEETES 0.011 0.524
— MiLHLEK [0. 010 0. 499
— LI B #[0. 001 0.025
FRERET B 0.316 15.795
> et it 0. 327 16.319




[image: image5.png]B i

B 199w ; LFA . 504 O frigss

EHEIER ESURERR BC @SUsT AEGRN
B3 EKWIEIE T [fECO2( 5 ik (ke/m » &) [T () |4 A8 [T e ik (eCOlaBkIF] e ik (tC02)
JUNTIARS HEA R R X 0.6 30 20 0. 360 18.000
A 0.6 7.5 5 0.023 1.125
ER A NI SN N L] 0.6 0.5 10 0.003 0.150
EEd 0.6 18.1 100 1.086 54. 300

Ld B frit 1.471 73.575




[image: image6.png]B i

B 199w ; LFA . 504 8 HfriiBEhE

EHEIER ESURERR BC @SUsT AEGRN
SRH KR IER T |fECO2[M i i (ke/m” + 2) |HIER () |klA] 5 i (keCO2
JUNTIARS HEA R R X 0.6 30 20 90. 30
A 0.6 7.5 5 5.64
ER A NI SN N L] 0.6 0.5 10 0.75
EEd 0.6 18.1 100 272. 40

Ld B frit 369. 10





[image: image7.png]B i

B 199w ; LFA . 504 O frigss

EHEIER ESURERR BC @SUsT AEGRN
B3 EKWIEIE T [fECO2( 5 ik (ke/m » &) [T () |4 A8 [T e ik (eCOlaBkIF] e ik (tC02)
JUNTIARS HEA R R X 0.6 30 20 0. 360 18.000
A 0.6 7.5 5 0.023 1.125
ER A NI SN N L] 0.6 0.5 10 0.003 0.150
EEd 0.6 18.1 100 1.086 54. 300

Ld B frit 1.471 73.575




[image: image8.png]B i

B 199w ; LFA . 504 8 HfriiBEhE
RIS ESUERR BT ESUST AaRN
I i R e (kWh/m')  [CORHRICIA T (keCO2/kWh) [EMEHPIC AL (keCOR|REHFRUIR (keCO2/|
FEf% (Eo) 0 0. 8843 0.00 0. 00
= AR 0 0.00 0.00
— AHKSE 0 0.00 0.00
= AKE 0 0. 00 0.00
— AR 0 0.00 0.00
= BIRHL/ oA 0 0.00 0.00
FER itz (Eh) 421 0. 8843 7.45 372.33
T 0 0.00 0.00
— ks 0 0.00 0.00
— AIRK 5 0 0.00 0.00
= BIRHL/ e S 421 7.45 372.33
558 0.8843 9.87 493.38
176 3.11 155.52
o 0.00 0.00
382 6.76 337.86
o 0.00 0.00
556 0.8843 9.84 491.82
H! il - 0. 8843 - -
=3 fth (Bo) 0 0. 8843 0.00 0.00
— Wk 0 0. 00 0.00
— AL 0 0.00 0.00
0 0. 00 (Gl 1 KFHH0. 00 Gl 1 KFH
BEiians (oK R 7 (£C02/T]) | FF Rk HRIACE (kg CO2) B HEIAU i (kgCO2/|
0 (kFh/m) - 0. 00 0.00
0 (kFh/m) - 0.00 0.00
10 (ki¥h/m") - 0. 00 (F113k 7 0. 00 (F1uk 7 A
- 55.54 - -
iR BRI (kg CO2|BRHPIRU L (keC02/
= il 0(ke) 0. 00 0. 00
— B SRAE - 0.00 0.00
1l fiE U (Br) ftrs (oWh/m')  |CORHEIKIA 1 (keCO2/kWh) [(EASIRATE it (keCO2| WA it (keCO2/|
— JtiR(Ep) 1051 0. 8843 18.59 929. 61
— AJ) (Ep) 0 0. 8843 0.00 0.00
SESEAT B AT 8.56 427.92




[image: image9.png]B i

SESUMR: 199m'; {5 50
HERIG RS BOC BT AkaR

O frigss

I i R e (Wh/m') O HRIIA T (keCO2/kWh) [SEMEHBICAE (cCO2I BRI (1C02)
FEf% (Eo) 0 0. 8843 0. 000 0. 000
= AR 0 0. 000 0.000
— AHKSE 0 0. 000 0.000
= AKE 0 0. 000 0. 000
— AR 0 0. 000 0.000
= BIRHL/ e 0 0. 000 0.000
FER itz (Eh) 421 0. 8843 1.484 74.219
T 0 0. 000 0.000
— ks 0 0. 000 0.000
ik 52 0 0. 000 0.000
B/ e S 421 1.484 74.219
AL (Ef) 558 0. 8843 1.967 98. 349
T HHER 176 0. 620 31. 001
— RBLEET 0 0. 000 0.000
— BN Bl 382 1.347 67. 348
= ATRAR 0 0. 000 0.000
— M 556 0. 8843 1.961 98. 040
i3 15 6 - 0. 8843 - -
*EJ[{L (Eo) 0 0. 8843 0. 000 0.000
— Wk 0 0. 000 0. 000
= JIIJXLHL 0 0. 000 0.000
0 0. 000 Gi11% 1 KB|0. 000 G1iik 1 K
BEiians o2 7 (£€02/T)) | RHRIACE (tcoimiHRIUL (1€02)
0 (kFh/m) - 0. 000 0. 000
0 (kFh/m) - 0.000 0.000
10 (ki¥h/m") - 0. 000 Gi11% 1 KB|0. 000 Gk 1 K|
- 55.54 - -
iR BT BCRE (tCo2|BRHFIR R (£C02)
— A 0(ke) 0. 000 0. 000
— B SRAE - 0. 000 0.000
1l fiE U (Br) fitrs (oWh/m?)  |CORHEIKIA T (keCO2/kWh) [(ERWRAE R (tCon|RiWHEE (t02)
— JtiR(Ep) 1051 0. 8843 3. 706 185. 306
— AJ) (Ep) 0 0. 8843 0. 000 0. 000
RFUEAT B A 1.706 85. 301




[image: image10.png]B i

HHIMER: 199m7; FHETFd: 504

[~ EXbaipst =17

RIS ESUERR BRC @sts AEeAN
EST] BRI (ke ClHEI R (ke
e 15.59 779.64
ARz 0.20 10.11
R 0.05 2.63
SESURER 1.58 79.24
ESUEAT 8.56 427.92
CEN -7.38 -369. 10

» it 18. 60 930. 44

S o BRI

B EHEEER
o pEnR
m esET




[image: image11.png]B i

SR 109 ; HH A 506 (@A

It Sk WL it el

BRI (OB (1

o0 o S iy R AR

0. 011 0.524
0. 316 15.795
1. 706 85. 301
—1.472 =73. 575
3. 709 185. 473

B EHEEER
o pEnR
m esET





